HW 3.3 Selected Answers SeclH

1 a) f(x)="f(x-1)+2 f(1)=2 5.a) 5
b) f(x)=2.2"" b) f(x)=f(x-1)-5 f(1)=2
c) M C) f(X)=2-5X_1

i 7.a) 3

o b) f(x)="f(x-1)3; f(1)=4

e c) f(x)=4.3"

<2_T2345' ) (X)
3. a)f(x)= f(x—l)-%; f (0)=300 9. a) 7

LV b) f(x)="f(x-1)7; f(1)=-6
b) f(x)=300-(— c) f(x)=—6+7""
Yy 2/

) T

S 200 11. a) 5

E ! b) f(x)="f(x-1)«5 f(1)=3

innnani ¢) f(x)=3+5"

Time (months)




13. a) 8 23. f(x)=3.2"
b) f(x)=f(x-1)-8; f(1)=4 12,288
c) f(x)=4.8"

15. a) 6
b) f(x)="f(x-1)«6; f(1)=—6
c) f(x)=-6+6""

17. f(x)=4-2x‘1
4096

19. f(x)= 635 - 5
50

21. f(x)=3.7"
2,470,629



